1.

x,y 72

@D 170

2~
A%

@

o, 2x+y =102 W=

2 7 3 370

=1
St

ol

@ 4 7|

= 2%

=R

® 570



St 57t (a,3a) & o, a & BE2 ot



PFAA x4+ 2y -3 =0 9] 1 9]9] Ho] ofd A&
0

,7> ® (1,2)



DAY 25 +ay =10 O &
A, a+b o kg Fatole

acr;

Sl (2,3) oliL, E THE sl (b,4)



5.  ZAE xyoll diste] x +y - 10 = 05 TSk x,y 2 =A% (x,y)
o] & Fotofet.,

s gl



a‘ih”“—l ax+5y =3 x=-4dw y=-10c} y=29
o, x 9] gh2?

@—% ®-r  ®- @

-3
N | =3
©
N |



Qo] ‘].1:1]—;(—]

[eRNe]

A —3x+4y-2=5 9]

o -7 3 1

gt a7t (3k,2k) € o, k ©] #4272

@ 7 B 5



St 57t (a,3a) & o, a & BE2 ot



QAPAH ax+y = -5 9 37} (-2.3) & 1, a © Fk& Fofoiel,

>R
=%



6

3x+ 2y



2x -3y =-10 _
11, A3734 d ok x=a, y=bet T, a2+
2x — 25y = 34



=-2

3x—-y=25
—2x+ 2y

——

il

a3

[l

3



13. AZurAA 4x+5y=2---0Q

®®X3—®x4 ®®X4_©X3
Y oxa O @ Ox4+Ox3
® Ox3+0Ox3



tod | x-y 19l

©

, v ol of

A
— X

5

=
=

KeX
=

Sx—2y=1

ot

S

e






2x+ 7y =1
x+4y=1

——

il

a3

[l

3



U
ol

)
A

@ Ox2+0Ox2

D Ox3+0

@ Ox3-Ox2

® Ox3-0©

® Ox2+0Ox3



= -8

3x+2y=2
x4+ 5y

——

il

a3

[l

3






3x-2y="T7

@ x=-3y+3 ® x=3y-3

® x=3y+3

—--x+1

®y=



4

2x -3y =1

x+2y

-2,y=1 @ x=2,y=0

@ x

O x=2,y=1

® x=3,y=1

2, y=-1

X



x=2y-95

x-y+2=0

.

Ul



x=2y-3

i

a

D

a



24.

x, y 7F Aol -2 < x < 29 o, uA5TF 2 A4

x+2y = 59] Fe] A4 Fafolat

SR
=%



25. & HI)oA AaAg A 3x+y =10 of iFF Ao &2

0 e 5e)

& mA1%7} 2 4] QAP Alelet.

© x y 7t BE A 0, R &M (x, y) & 749
gel 9l

© x, y 7t AAs+Y o, sl 3 ot
@ x=-34 1, y=10|c}
@ y o ol =5t y = 3x+ 10 ©|ch.

© 00 © 0,06,
® 0,006 @® 09,0066
® 0,0,0, 0



